

Iterative Pexider equation

By MARIUSZ BAJGER (Rzeszów, Poland)

Abstract. We consider the Pexider equation $F_{st} = H_s \circ G_t$ for (s, t) belonging to the domain of a binary operation on a groupoid K , where $\{F_t : t \in K\} \subset Z^X$, $\{G_t : t \in K\} \subset Y^X$, $\{H_t : t \in K\} \subset Z^Y$ are unknown families of functions. It is shown that, in the case when there exists a unit element e in K and H_e is an injection and G_e is a surjection, the equation can be reduced to the Cauchy equation. Using the above result we solve the following problem: when does it follow from the equality $F_{st} = H_s \circ G_t$, for (s, t) belonging to a set $L \subsetneq R_+^2$, that $F_{st} = H_s \circ G_t$ for $(s, t) \in R_+^2$? Finally, some other conditions are established under which the equation may be reduced to the Cauchy equation.

Let K be a non-empty set endowed with a binary operation (i.e. a mapping of a subset $D(K)$ of $K \times K$ into K). The set K with the binary operation is called a groupoid (cp. [2]). If $(s, t) \in D(K)$ then we say that st is defined.

The binary operation is said to be associative in case the following implication holds: if in the equation $s(tp) = (st)p$, $s, t, p \in K$, one of its sides or both the products tp and st are defined then both sides of the equation are defined and the equality holds.

An element $e \in K$ will be called a unit if for every $t \in K$ the products te and et are defined and $te = et = t$.

For $t \in K$ we denote by $K_l(t)$ ($K_r(t)$) the set of all elements $e \in K$ such that et (te) is defined and $et = t$ ($te = t$).

Let K be a groupoid and X, Y, Z arbitrary non-empty sets. We shall consider the Pexider functional equation

$$(1) \quad F_{st} = H_s \circ G_t \quad \text{for } (s, t) \in D(K),$$

where $\{F_t : t \in K\} \subset Z^X$, $\{G_t : t \in K\} \subset Y^X$, $\{H_t : t \in K\} \subset Z^Y$ are unknown families of functions. We understand (1) in such a way that if st is defined, then the composition $H_s \circ G_t$ is defined (i.e. $\text{Ran } G_t \subset \text{Dom } H_s$),

1980 *Mathematics Subject Classification* (1985 *Revision*): 39B10, 39B50.

Keywords: functional equation, Pexider equation, Cauchy equation, binary operation, groupoid, iteration semigroup.

$t \in K$, where $\text{Ran } G_t$ denotes the range of G_t and $\text{Dom } H_t$ denotes the domain of H_t) and equality (1) holds. Similar problems have been studied in [1], [5], [6], [7].

Let us denote by $\text{In}(X, Y)$ ($\text{Sur}(X, Y)$) the set of all injections (surjections) of X into (onto) Y .

Theorem 1. *Let K be a groupoid such that there exists a unit element e in K .*

(i) *If $\{F_t : t \in K\} \subset Z^X$, $\{G_t : t \in K\} \subset Y^X$, $\{H_t : t \in K\} \subset Z^Y$ satisfy (1) and $H_e \in \text{In}(Y, Z)$, $G_e \in \text{Sur}(X, Y)$ then there exist functions $A \in \text{In}(Y, Z)$, $B \in \text{Sur}(X, Y)$ and a family of functions $\{T_t : t \in K\} \subset Y^Y$ such that*

$$(2) \quad T_{st} = T_s \circ T_t \quad \text{for } (s, t) \in D(K)$$

and

$$(3) \quad \begin{cases} F_t = A \circ T_t \circ B, \\ G_t = T_t \circ B, \\ H_t = A \circ T_t, \quad t \in K. \end{cases}$$

(ii) *If $A \in Z^Y$, $B \in Y^X$ are arbitrary functions and $\{T_t : t \in K\} \subset Y^Y$ fulfils condition (2) then the functions F_t , G_t , H_t given by (3) satisfy equation (1).*

PROOF. Put $F(t) := F_t$, $G(t) := G_t$, $H(t) := H_t$. Setting in (1) $t = e$ and then $s = e$ we get

$$(4) \quad F(s) = H(s) \circ G(e), \quad s \in K,$$

$$(5) \quad F(t) = H(e) \circ G(t), \quad t \in K.$$

Comparing the right hand sides of (4) and (5) for $s = t$ we obtain

$$(6) \quad H(t) \circ G(e) = H(e) \circ G(t), \quad t \in K.$$

By (6) and the relation $G(e) \in \text{Sur}(X, Y)$ we infer that

$$(7) \quad \text{Ran } H(t) \subset \text{Ran } H(e) \quad \text{for } t \in K.$$

Note that in view of (4) and the fact that $G(e) \in \text{Sur}(X, Y)$

$$(8) \quad \text{Ran } H(t) = \text{Ran } F(t), \quad t \in K.$$

From (1) we have

$$(9) \quad F(st) = F(e(st)) = H(e) \circ G(st) \quad \text{for } (s, t) \in D(K).$$

Hence

$$(10) \quad \text{Ran } F(st) \subset \text{Ran } H(e) \quad \text{for } (s, t) \in D(K).$$

Thus from (7), (8), (10) we have the following relations

$$\begin{aligned} \text{Dom } H(e)^{-1} \supset \text{Ran } H(t) &= \text{Ran } F(t), \quad t \in K, \\ \text{Dom } H(e)^{-1} \supset \text{Ran } F(st), \quad (s, t) \in D(K). \end{aligned}$$

We introduce on X an equivalence relation $\sim$ putting

$$x \sim y \quad \text{iff} \quad G(e)(x) = G(e)(y).$$

Denote $\tilde{X} := X/\sim$ and let g be an invertible mapping such that $g([x]) \in [x]$. Thus the function $G(e) \circ g : \tilde{X} \rightarrow Y$ is a bijection. From (4) we obtain $F(t) \circ g = H(t) \circ G(e) \circ g$ whence

$$(11) \quad H(t) = F(t) \circ g \circ (G(e) \circ g)^{-1} \quad \text{for } t \in K.$$

Hence (1) may be written as follows:

$$(12) \quad F(st) = F(s) \circ g \circ (G(e) \circ g)^{-1} \circ G(t) \quad \text{for } (s, t) \in D(K).$$

(5) yields

$$(13) \quad G(t) = H(e)^{-1} \circ F(t), \quad t \in K.$$

Next (6) implies

$$(14) \quad G(t) = H(e)^{-1} \circ H(t) \circ G(e), \quad t \in K.$$

Putting (13) into (12) we obtain

$$(15) \quad F(st) = F(s) \circ g \circ (G(e) \circ g)^{-1} \circ H(e)^{-1} \circ F(t), \quad (s, t) \in D(K).$$

Define $T(t) := H(e)^{-1} \circ F(t) \circ g \circ (G(e) \circ g)^{-1}$, $t \in K$. Hence by (12) and (13) we can write

$$\begin{aligned} T(st) &= H(e)^{-1} \circ F(st) \circ g \circ (G(e) \circ g)^{-1} = \\ &= H(e)^{-1} \circ F(s) \circ g \circ (G(e) \circ g)^{-1} \circ G(t) \circ g \circ (G(e) \circ g)^{-1} = \\ &= H(e)^{-1} \circ F(s) \circ g \circ (G(e) \circ g)^{-1} \circ H(e)^{-1} \circ F(t) \circ g \circ (G(e) \circ g)^{-1} = \\ &= T(s) \circ T(t). \end{aligned}$$

Then (2) holds, where $T_t := T(t)$, $t \in K$. By (11) we have

$$(16) \quad H(t) = H(e) \circ T(t), \quad t \in K,$$

and from (16), (14)

$$(17) \quad G(t) = T(t) \circ G(e), \quad t \in K.$$

Setting $s = e$ in (15) and (12) we get

$$(18) \quad F(t) = F(e) \circ g \circ (G(e) \circ g)^{-1} \circ H(e)^{-1} \circ F(t), \quad t \in K,$$

and

$$F(t) = F(e) \circ g \circ (G(e) \circ g)^{-1} \circ G(t), \quad t \in K$$

respectively. Hence by (17), the definition of T , and (18) we obtain

$$(19) \quad F(t) = H(e) \circ T(t) \circ G(e), \quad t \in K.$$

Putting $A := H(e)$, $B := G(e)$ we get from (19), (17) and (16) the formulas (3).

The proof of (ii) is easy.

Now we present an application of the above result.

Let $D(R_+) := \{(s, t) \in R_+ : s \cdot t = 0 \text{ or } s = c \cdot t\}$ where R_+ denotes the set of all non-negative real numbers and $c \in R_+$.

Assume that $\{F_t : t \in R_+\}$, $\{G_t : t \in R_+\}$, $\{H_t : t \in R_+\}$ are one-parameter families of functions mapping a real interval $I := \langle a, b \rangle$ into itself. We consider the following problem: when does the equality $F_{t+s} = H_s \circ G_t$ for $(s, t) \in D(R_+)$ imply that $F_{t+s} = H_s \circ G_t$ for $(s, t) \in R_+^2$? The analogous problem for the Cauchy equation

$$(20) \quad F_{t+s} = F_t \circ F_s, \quad (s, t) \in D(R_+)$$

has been considered by M.C. ZDUN in [8] and M. SABLİK in [3]. In the latter paper there has been proved the following

Theorem 2. *If the limit $\lim_{t \rightarrow 0} \frac{F_t(x) - x}{t} =: d(x) \neq 0$ exists in (a, b) , d is a continuous function, $F(x, t) = F_t(x)$ is continuous (as a function of two variables) and (20) holds, then $\{F_t : t \in R_+\}$ is an iteration semigroup (i.e. $F_{t+s} = F_t \circ F_s$ for $(s, t) \in R_+^2$, cp. [4]).*

Using Theorems 1(i) and 2 we shall prove the following

Proposition 1. *Suppose that $H_0 \in \text{In}(I)$, $G_0 \in \text{Sur}(I)$, the functions $H(x, t) := H_t(x)$, H_0 are continuous and $F_{t+s} = H_s \circ G_t$ for $(s, t) \in D(R_+)$. If the limit $\lim_{t \rightarrow 0} \frac{(H_0^{-1} \circ H_t)(x) - x}{t} =: d(x) \neq 0$ exists in (a, b) and d is continuous then $F_{t+s} = H_s \circ G_t$ for $(s, t) \in R_+^2$.*

PROOF. By the proof of Theorem 1(i) we have the formulas

$$(21) \quad \begin{cases} F_t = H_0 \circ T_t \circ G_0, \\ G_t = T_t \circ G_0, \\ H_t = H_0 \circ T_t, \quad t \in R_+, \end{cases}$$

where $\{T_t : t \in R_+\} \subset I^I$ is a family of functions such that $T_{t+s} = T_t \circ T_s$ for $(s, t) \in D(R_+)$. On account of (21) we have

$$\lim_{t \rightarrow 0} \frac{(H_0^{-1} \circ H_t)(x) - x}{t} = \lim_{t \rightarrow 0} \frac{T_t(x) - x}{t}.$$

Hence, by Theorem 2, we infer that $T_{t+s} = T_t \circ T_s$ for $(s, t) \in R_+^2$ and consequently, from formulas (21), we get the Proposition.

In the associative case we have the following general Lemma which will be used in the proof of the next Theorem:

Lemma. (i) Let K be a groupoid such that the binary operation is associative and $K_l(t) \neq \emptyset$, $K_r(t) \neq \emptyset$ for every $t \in K$. Suppose that $l \in \times_{t \in K} K_l(t)$, $r \in \times_{t \in K} K_r(t)$ and

$$\{F_t : t \in K\} \subset Z^X, \{G_t : t \in K\} \subset Y^X, \{H_t : t \in K\} \subset Z^Y \text{ satisfy (1).}$$

If

$$(C) \quad H_{l(t)} \in \text{In}(Y, Z), \quad G_{r(t)} \in \text{Sur}(X, Y) \quad \text{for } t \in K$$

then there exist $\{M_t\}_{t \in K} \subset \text{In}(Y, Z)$, $\{N_t\}_{t \in K} \subset \text{Sur}(X, Y)$ and $\{T_t\}_{t \in K} \subset Y^Y$ such that

$$(H) \quad T_{st} = T_s \circ T_t, \quad M_{st} \circ T_{st} = M_s \circ T_{st}, \quad T_{st} \circ N_{st} = T_{st} \circ N_t$$

for $(s, t) \in D(K)$, and

$$(22) \quad \begin{cases} F_t = M_t \circ T_t \circ N_t, \\ G_t = T_t \circ N_t, \\ H_t = M_t \circ T_t, \quad t \in K \end{cases}$$

(ii) Conversely, if $\{M_t\}_{t \in K} \subset Z^Y$, $\{N_t\}_{t \in K} \subset Y^X$, $\{T_t\}_{t \in K} \subset Y^Y$ satisfy (H) then the functions F_t , G_t , H_t given by (22) fulfil equation (1).

PROOF. Suppose that $\{F_t\}_{t \in K}$, $\{G_t\}_{t \in K}$, $\{H_t\}_{t \in K}$ satisfy (1) and condition (C). Put $F(t) := F_t$, $G(t) := G_t$, $H(t) := H_t$, $l_t := l(t)$, $r_t := r(t)$.

From equation (1) we directly obtain

$$(23) \quad F(st) = F(l_{st}(st)) = H(l_{st}) \circ G(st), \quad (s, t) \in D(K).$$

$$(24) \quad F(st) = F((st)r_{st}) = H(st) \circ G(r_{st}),$$

In view of associativity we have

$$(25) \quad F(st) = F((l_s s)t) = F(l_s(st)) = H(l_s) \circ G(st), \quad (s, t) \in D(K).$$

$$(26) \quad F(st) = F(s(tr_t)) = F((st)r_t) = H(st) \circ G(r_t),$$

Setting in (1) $t = r_s$ and then $s = l_t$ we get

$$(27) \quad F(s) = H(s) \circ G(r_s), \quad s \in K$$

$$(28) \quad F(t) = H(l_t) \circ G(t), \quad t \in K.$$

Comparing the right hand sides of (27) and (28) for $s = t$ we obtain

$$(29) \quad H(t) \circ G(r_t) = H(l_t) \circ G(t), \quad t \in K.$$

Hence, using (29) and the relation $G(r_t) \in \text{Sur}(X, Y)$, we infer that

$$(30) \quad \text{Ran } H(t) \subset \text{Ran } H(l_t) \quad \text{for all } t \in K.$$

Moreover, from (25) it follows that

$$(31) \quad \text{Ran } F(st) \subset \text{Ran } H(l_s) \quad \text{for } (s, t) \in D(K).$$

Note that, in view of (27) and the fact that $G(r_t) \in \text{Sur}(X, Y)$,

$$(32) \quad \text{Ran } H(t) = \text{Ran } F(t), \quad t \in K.$$

Thus from (30), (31), (32) we have the following relations

$$\text{Dom } H(l_t)^{-1} \supset \text{Ran } H(t) = \text{Ran } F(t), \quad t \in K,$$

$$\text{Dom } H(l_s)^{-1} \supset \text{Ran } F(st), \quad (s, t) \in D(K).$$

Now, on account of (23) and (25) we get

$$(33) \quad H(l_{st})^{-1} \circ F(st) = H(l_s)^{-1} \circ F(st) \quad \text{for } (s, t) \in D(K).$$

Fix a $t \in K$ and introduce an equivalence relation $\sim_t$ on X putting $x \sim_t y$ iff $G(r_t)(x) = G(r_t)(y)$. Denote

$$\tilde{X}^t := X / \sim_t.$$

Fix an invertible mapping $g_t : \tilde{X}^t \rightarrow X$ such that

$$g_t([x]) \in [x].$$

Then for every $t \in K$ the mapping $G(r_t) \circ g_t : \tilde{X}^t \rightarrow Y$ is a bijection.

From (27) we obtain

$$F(t) \circ g_t = H(t) \circ G(r_t) \circ g_t, \quad \text{whence}$$

$$(34) \quad H(t) = F(t) \circ g_t \circ (G(r_t) \circ g_t)^{-1}.$$

Using (34), (1) may be written as follows:

$$(35) \quad F(st) = F(s) \circ g_s \circ (G(r_s) \circ g_s)^{-1} \circ G(t) \quad \text{for } (s, t) \in D(K).$$

Note that the relations (24) and (26) imply the equalities

$$\begin{aligned} F(st) \circ g_{st} &= H(st) \circ G(r_{st}) \circ g_{st}, \\ F(st) \circ g_t &= H(st) \circ G(r_t) \circ g_t, \end{aligned} \quad (s, t) \in D(K).$$

Hence we get

$$(36) \quad F(st) \circ g_{st} \circ (G(r_{st}) \circ g_{st})^{-1} = F(st) \circ g_t \circ (G(r_t) \circ g_t)^{-1}$$

for $(s, t) \in D(K)$. By (28) we have

$$(37) \quad G(t) = H(l_t)^{-1} \circ F(t), \quad t \in K.$$

Next, (29) implies

$$(38) \quad G(t) = H(l_t)^{-1} \circ H(t) \circ G(r_t), \quad t \in K.$$

Putting (37) into (35) we obtain

$$(39) \quad F(st) = F(s) \circ g_s \circ (G(r_s) \circ g_s)^{-1} \circ H(l_t)^{-1} \circ F(t)$$

for $(s, t) \in D(K)$. Define

$$T(t) := H(l_t)^{-1} \circ F(t) \circ g_t \circ (G(r_t) \circ g_t)^{-1}, \quad t \in K.$$

Hence by (33), (36), and (39) we can write

$$\begin{aligned} T(st) &= H(l_{st})^{-1} \circ F(st) \circ g_{st} \circ (G(r_{st}) \circ g_{st})^{-1} = \\ &= H(l_s)^{-1} \circ F(st) \circ g_{st} \circ (G(r_{st}) \circ g_{st})^{-1} = \\ &= H(l_s)^{-1} \circ F(st) \circ g_t \circ (G(r_t) \circ g_t)^{-1} = \\ &= H(l_s)^{-1} \circ F(s) \circ g_s \circ (G(r_s) \circ g_s)^{-1} \circ H(l_t)^{-1} \circ \\ &\quad \circ F(t) \circ g_t \circ (G(r_t) \circ g_t)^{-1} = T(s) \circ T(t). \end{aligned}$$

Thus $T(st) = T(s) \circ T(t)$ for $(s, t) \in D(K)$.

From (34) we have

$$(40) \quad H(t) = H(l_t) \circ T(t), \quad t \in K,$$

and from (40), (38)

$$(41) \quad G(t) = T(t) \circ G(r_t), \quad t \in K.$$

Setting in (39) and then in (35) $s = l_t$ we get

$$(42) \quad F(t) = F(l_t) \circ g_{l_t} \circ (G(r_{l_t}) \circ g_{l_t})^{-1} \circ H(l_t)^{-1} \circ F(t), \quad t \in K$$

and

$$F(t) = F(l_t) \circ g_{l_t} \circ (G(r_{l_t}) \circ g_{l_t})^{-1} \circ G(t), \quad t \in K,$$

respectively. Hence, using (41), the definition of the function T and (42), we can write

$$\begin{aligned} F(t) &= F(l_t) \circ g_{l_t} \circ (G(r_{l_t}) \circ g_{l_t})^{-1} \circ T(t) \circ G(r_t) = \\ &= F(l_t) \circ g_{l_t} \circ (G(r_{l_t}) \circ g_{l_t})^{-1} \circ H(l_t)^{-1} \circ F(t) \circ g_t \circ \\ &\quad \circ (G(r_t) \circ g_t)^{-1} \circ G(r_t) = \\ &= F(t) \circ g_t \circ (G(r_t) \circ g_t)^{-1} \circ G(r_t) = H(l_t) \circ T(t) \circ G(r_t). \end{aligned}$$

Thus, the following equality holds:

$$(43) \quad F(t) = H(l_t) \circ T(t) \circ G(r_t), \quad t \in K.$$

Define

$$(44) \quad M(t) := H(l_t), \quad N(t) := G(r_t) \quad \text{for } t \in K.$$

It is clear that $M(t) \in \text{In}(Y, Z)$ and $N(t) \in \text{Sur}(X, Y)$ for $t \in K$.

Now we show that the functions M, N satisfy condition (H). Using (33) it is easy to check that

$$M(st) \circ T(st) = M(s) \circ T(st) \quad \text{for } (s, t) \in D(K).$$

Note that (24) and (26) yield

$$H(st) \circ G(r_{st}) = H(st) \circ G(r_t) \quad \text{for } (s, t) \in D(K),$$

hence by (40)

$$H(l_{st}) \circ T(st) \circ G(r_{st}) = H(l_{st}) \circ T(st) \circ G(r_t), \quad (s, t) \in D(K),$$

and consequently

$$T(st) \circ N(st) = T(st) \circ N(t), \quad (s, t) \in D(K).$$

Finally, formulas (22) result directly from (43), (41) and (40).

The proof of (ii) is easy.

Theorem 3. (i) Let K be a groupoid such that the binary operation is associative and $K_l(t) \neq \emptyset$, $K_r(t) \neq \emptyset$ for $t \in K$. Assume that there exist functions $l : K \ni t \rightarrow l(t) \in K_l(t)$, $r : K \ni t \rightarrow r(t) \in K_r(t)$ such that

$$(45) \quad l(st) = l(s), \quad r(st) = r(t) \quad \text{for } (s, t) \in D(K)$$

and $\{F_t : t \in K\} \subset Z^X$, $\{G_t : t \in K\} \subset Y^X$, $\{H_t : t \in K\} \subset Z^Y$ satisfy (1). If $H_{l(t)} \in \text{In}(Y, Z)$, $G_{r(t)} \in \text{Sur}(X, Y)$, $t \in K$ then there exist $\{M_t : t \in K\} \subset \text{In}(Y, Z)$, $\{N_t : t \in K\} \subset \text{Sur}(X, Y)$, $\{T_t : t \in K\} \subset Y^Y$ satisfying the condition

$$(G) \quad M_{st} = M_s, \quad N_{st} = N_t, \quad T_{st} = T_s \circ T_t \quad \text{for } (s, t) \in D(K)$$

and

$$(46) \quad \begin{cases} F_t = M_t \circ T_t \circ N_t, \\ G_t = T_t \circ N_t, \\ H_t = M_t \circ T_t, \quad t \in K. \end{cases}$$

(ii) Conversely, if $\{M_t : t \in K\} \subset Z^Y$, $\{N_t : t \in K\} \subset Y^X$, $\{T_t : t \in K\} \subset Y^Y$ satisfy (G) then the functions F_t , G_t , H_t given by (46) fulfil equation (1).

PROOF. According to the Lemma there exist families of functions $\{M_t : t \in K\} \subset \text{In}(Y, Z)$, $\{N_t : t \in K\} \subset \text{Sur}(X, Y)$, $\{T_t : t \in K\} \subset Y^Y$ satisfying condition (H) and such that formulas (46) hold. It is easy to see, using (45), that the families $\{M_t : t \in K\}$, $\{N_t : t \in K\}$ defined by (44) satisfy condition (G). So, the proof of (i) is finished.

The proof of (ii) is trivial.

The following example gives an application of Theorem 3.

Example 1. Let us consider the following functional equation

$$(47) \quad F_{\min\{s,t\}} = H_s \circ G_t \quad \text{for } (s, t) \in D$$

where $D := \{(s, t) \in R^2 : t \leq s \leq c\}$, c is a fixed real number and $\{F_t : t \leq c\} \subset Z^X$, $\{G_t : t \leq c\} \subset Y^X$, $\{H_t : t \leq c\} \subset Z^Y$ are unknown families of functions. Putting $l(s) := c$ and $r(s) := s$ for $s \in R$, $s \leq c$, it is easy to check that (45) holds. Analysing the proof of the Lemma, it is easy to see that the associativity assumption in Theorem 3 can be omitted. Thus, assuming that $H_c \in \text{In}(Y, Z)$, $G_s \in \text{Sur}(X, Y)$ for $s \leq c$, we may use Theorem 3 to get a solution of equation (47). Namely, according to (G), we have $M_t = M_{\min\{c,t\}} = M_c =: A$ for $t \leq c$. So, every solution has the form

$$\begin{cases} F_t = A \circ T_t \circ N_t \\ G_t = T_t \circ N_t, \\ H_t = A \circ T_t \quad t \leq c, \end{cases}$$

for some $A \in Z^Y$, $\{N_t : t \leq c\} \subset Y^X$ and $\{T_t : t \leq c\} \subset Y^Y$ such that $T_{\min\{s,t\}} = T_s \circ T_t$ for $(s, t) \in D$.

The next Proposition gives a condition under which a groupoid K has the choice functions l, r satisfying condition (45). To precise the formulation of the Proposition let us denote by K° the set of all elements e from a groupoid K such that the following condition holds for all $t \in K$:

$$(48) \quad \begin{cases} \text{if } et \text{ is defined then } et = t, \\ \text{if } te \text{ is defined then } te = t. \end{cases}$$

Define

$$\begin{aligned} K_l^\circ(t) &:= \{e \in K^\circ : et \text{ is defined}\}, \\ K_r^\circ(t) &:= \{e \in K^\circ : te \text{ is defined}\}, \quad t \in K. \end{aligned}$$

Proposition 2. *Let K be a groupoid such that the binary operation is associative. Suppose that the set $K_l^\circ(t)$ ($K_r^\circ(t)$) is nonempty for every $t \in K$. Then there exists a function $l : K \ni t \rightarrow l(t) \in K_l(t)$ ($r : K \rightarrow K_r(t)$) such that $l(st) = l(s)$ ($r(st) = r(t)$) for $(s, t) \in D(K)$.*

PROOF. Let $l^\circ : K \ni t \rightarrow l^\circ(t) =: l_t^\circ \in K_l^\circ(t)$. From associativity we obtain

$$l_{st}^\circ(st) = (l_{st}^\circ s)t, \quad l_s^\circ(st) = (l_s^\circ s)t \quad \text{for } (s, t) \in D(K).$$

Consequently, the products $l_{st}^\circ s$, $l_s^\circ(st)$ are defined for $(s, t) \in D(K)$. Moreover, in virtue of associativity, we may write

$$l_{st}^\circ s = l_{st}^\circ (l_s^\circ s) = (l_{st}^\circ l_s^\circ)s, \quad l_{st}^\circ(st) = l_s^\circ(l_{st}^\circ st) = (l_s^\circ l_{st}^\circ)st$$

for $(s, t) \in D(K)$. Hence the products $l_{st}^\circ l_s^\circ$, $l_s^\circ l_{st}^\circ$ are defined and, on account of (48), we get $l_{st}^\circ = l_s^\circ$ for $(s, t) \in D(K)$. Putting $l(s) := l^\circ(s)$ for $s \in K$ we get the Proposition. In the case when $K_r^\circ(t)$ is a nonempty set one can proceed in an analogous way.

Example 2. Let $\{X_i : i \in W\}$ be a family of disjoint sets and let S_{ij} be the family of all mappings $f : X_i \rightarrow X_j$ for $i, j \in W$. It is easy to check that, for the groupoid $S := \bigcup_{i,j} S_{ij}$ (with composition of functions as a binary operation), the sets $K_l^\circ(f)$, $K_r^\circ(f)$ are nonempty for every $f \in S$. So, under suitable assumptions, we may use Proposition 2 to reduce the equation

$$F_{f \circ g} = H_f \circ G_g, \quad f, g \in S,$$

where $\{F_f : f \in S\} \subset Z^Y$, $\{G_f : f \in S\} \subset Y^X$, $\{H_f : f \in S\} \subset Z^Y$ are unknown families of functions, to the Cauchy equation.

Acknowledgement. I wish to thank Professor M.C. ZDUN for having directed for my attention to the problem and for his help in preparing this paper.

References

- [1] J. ACZEL, On a generalization of the functional equation of Pexider, *Publ. Math. Beograd* **4** (18) (1964), 77–80.
- [2] A. H. CLIFFORD and G. B. PRESTON, The algebraic theory of semigroups I, *Mathematical Surveys* **7**, A.M.S., Providence, R.J., 1964.
- [3] M. SABLIK, Conditional Iteration Semigroup, *Ber. Math. – Stat. Sektion im Forschungszentrum Graz* **295** (1988).
- [4] A. SKLAR, The Structure of One-dimensional Flows with Continuous Trajectories, *Rad. Mat.* **3** (1987), 111–142.

- [5] J. TABOR, A Pexider equation on a small category, *Opuscula Math.* **4** (1988), 299–305.
- [6] M. A. TAYLOR, A Pexider equation for functions defined on a semigroup, *Acta Math. Acad. Sci. Hungar.* **36** (1980).
- [7] J. E. VINCZE, Verallgemeinerung eines Satzes Über assoziative Funktionen von mehreren Veränderlichen, *Publ. Math. Debrecen* **8**, 68–74.
- [8] M. C. ZDUN, Iteration semigroups with restricted domain, Coll. Int. du CNRSN 332, Toulouse, 17–22 mai 1982, *La Theorie de l'Iteration et ses Applications*, 75–79.

MARIUSZ BAJGER
DEPT. OF MATHEMATICS
PEDAGOGICAL UNIVERSITY OF RZESZÓW
REJTANA 16 A
35-310 RZESZÓW
POLAND

(Received March 23, 1992; revised January 4, 1993)